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(A HA_AF)20225 34 FAEF 7 120 000
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1. QukEgn) 28,602 25,910 2,692| 5771 A7 M) 1 113,0009+13] = 113,000
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2. HEFFEAN 884 900 -16|EHEAN] ¢ -16,0009 18 +13] = -16,000
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4 A A AP AT 1,730 1,720 10/ = AF © 10,0009 #1819 = 10,000
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8. [5G oAz 0 355 -355
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3.3 ¥ 4,550 4,750 -200
1.3 39 ds] &4 1,800 2,000 -200
L[z a9 3¢ 1,800 2,000 -200
1.09m) 0 200 -200 | SrugF 9 hoin] © -10,0009 59 43| = =200, 000
2. GG FFX 1,800 1,800 0
2.3 23 2,750 2,750 0
1.[Z]TPR3] e 795 800 -5
1. dnkpgn) 300 300 0
2. 4Rk Fxn 495 500 -5 |- 53] b3l ¢ -5,000¢%13] = -5,000
2. [=]F RS SEA 1,955 1,950 5
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